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Quantum mechanics
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① nantum mechanics is needed for

quantitative analysis of spectra
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BralketShorthand notation
(see notes)

17 =ket
not displayed

<I =bra (implicit complex
(*)conjugate => it -i)

<1 Y =integration over all
positional space

Math => order ofoperators and/or
wave functions can be switched
for simple arithmetic multiplication
butnotifthere are derivatives
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Ifwave function is eigenfunction
of operator, measurementof
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Time-dependence of wavefunction

Fifth postulate of g.M,
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Time-dependence of when
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energy
If it is a single,eigenfunction

energy
or sum ofneigenfonctions
with the same energy,
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=>"Stationarystate
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Radiative transitions ofradial atom
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Selection rule I

mathematical

relationship between

quantum numbers of

initial final states

For which the transition
dipale moment is

non-zero



Recall thatenergy eigenstate
185) has time dependence
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